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1-10 93 87 80 73 67 60 53 47 40 33
11-15 27 20 13 7 0

Wandle jede Zahl in die ausgeweitete Form um.

Bsp) 375,58 3•100+7•10+5+(5•1⁄10)+(8•1⁄100)

1) 97,514 9•10+7+(5•1⁄10)+(1•1⁄100)+(4•1⁄1000)

2) 23,2 2•10+3+(2•1⁄10)

3) 34,88 3•10+4+(8•1⁄10)+(8•1⁄100)

4) 66,977 6•10+6+(9•1⁄10)+(7•1⁄100)+(7•1⁄1000)

5) 1,3 1+(3•1⁄10)

6) 22,2 2•10+2+(2•1⁄10)

7) 1,77 1+(7•1⁄10)+(7•1⁄100)

8) 86,97 8•10+6+(9•1⁄10)+(7•1⁄100)

9) 93,9 9•10+3+(9•1⁄10)

10) 826,746 8•100+2•10+6+(7•1⁄10)+(4•1⁄100)+(6•1⁄1000)

11) 24,55 2•10+4+(5•1⁄10)+(5•1⁄100)

12) 67,191 6•10+7+(1•1⁄10)+(9•1⁄100)+(1•1⁄1000)

13) 744,856 7•100+4•10+4+(8•1⁄10)+(5•1⁄100)+(6•1⁄1000)

14) 851,9 8•100+5•10+1+(9•1⁄10)

15) 68,878 6•10+8+(8•1⁄10)+(7•1⁄100)+(8•1⁄1000)
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